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Tire = Three qoors
{Meximum Marks: 75;

INB: (1) Q.Na. 8 in FART - 4 and ONG. 15 i HART — B sgeg cotnpuisnry,
AfSWer any  FOLR HUERLONS from the remaining (v sach PART - 4
and PART - H

{2l Answer dfision fa) or divizion (bl of aack guastion (n PART - ¢

(3} Fach quastion curries 2 marks s FART - A, 3 morke i Agrt - B
Ad 10 marky in BART - £

f4) Stondard curves oo stalihicn tabies arz permitiod,
PART - A

1. 5Statethe importart elerrente of TQM,
2. Which type of companies shoutd go for |50 9001 certification?
3. List the four phases [ steps in Deming wheel,
4. What are the tynes of check shesrs cammaonly used?
3. What are the three Frincipal measures of centqc tendency?
6. What do you understand oy six sigma?
f. Under what situation, the uze of chart is more appropriate?

8. Whal cre the purposes of trea diagrarms?

FAST - B
9. What are the objectives of brein starming?
10, Whet is a vision statement? Giye ch exampole of vision statermont
Li. Wrat are the objectives of 557

12, What steps would youl take Lo ‘mualement quadlity drcles in your
COMpany?

13, Name the five phases of achieving s sigmo.
14, Differentiate cantral Limits gre spedficotion Limirs,
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15, Given the following frequency distribution.
Daily Moof | Doy Mo of Duily MNa of
woges in | workers | wages in [ workers [ wages in workers
J— L B 7.
125-175 Z | 2T5-325 14 L25-475 | &
"175-225 | 22 325-375 | 3 LT5-525 1
!
225-275 15 | 375-425 i 525-375 1
Calcuiate the mean.
rART - C
17, fa) it whal is brain starming?  {iilDraw the flow diagram of
cctivities in nrain storming, Txploin sach activity.
()
(bt Explain the seven steps of strategic planning with o block
diggrarm.
14, ‘al (i} Whas are the seven basic guality control tools?
lil How are these tools used for solving gquality control
problems in organisation?
(Or)
ihh (7} What is o scatier diagram?
(i1} Write the pracedure to construct scatter diagram for a given
pronLem.
13, o) The followng are the scores of two botsman Sechin and Dravid
in g serfes of innings. '
Sachin | iz 115 6 |73 |7 [18]119] 36 [84] 23]
i - i |
Dravida | 47 | 12 |16 [ 42 | 4 [51] 37 | 48 |13 | F‘
Who is Dettar score getier and wha is more cansistent?
fOr)
o} Test howve indicoted thot the tensile strength of certain

1B5/Eg-~2

alurniniun alloy averages 1780 kgfem’ with a stancard
deviotion of 220 kgiom®,  If the distribution is nermal, what
percentage of the casting will have {ilTensile strength Less than
1400 kgfem?® (iMoere than 1500 kafom®.

20. {al
i)
21.  [a)
(k)
185/80—3

e

The daily production in machine shop is 1000 components.
These components are inspected by Go and Me Go gouges. A
sample of 100 1s inspected daily for continiously ten days. [he
samples are taken at rondem. Compute the cantrol limits for
{iyp=chart and liinp-chart and also draw the choris.

[ Date T |z |3 [& |5 |6 F7 [8 [9 |i0]
Refection 2 J1ofs |20]18[14|15[212]|8 |6
(Ori

The following are the Xand R values of 4 subgroups of readings

X =102 121 10.8 and 10.9. R=1.1, 1.3, 0.9 and 0.8, The

specification Limits for the companents are 10.7 £ 0.2,

i1 Establiskh the control limits for X and R charts,

il Find the process capobility.

[ will the product able to meel its specification. Take for sub
graup size of 4, A,~0.73, [,=0, D,=2.28 and d;=£.055
respectively.

Il What are the objectives of benchmarking?
(il Describe the steps in benchmarking process,

{Cr)}
i) JT as a process — explain,
A What are the concepts of JIT?
liiilwhat are the objectives of JITY
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